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1., Samson Company had 1,200,000 shares of common stock outstanding on January 1, the first
day of its financial reporting year. Following is activity that took place during the
year:
March 1. Sold 50,000 additional shares of common stock.
May 1. Purchased 10,000 shares of treasury stock
October 1. Distributed a 10% stock dividend.
December 1. Resold 2,000 shares of treasury stock.
The company reported a net income for 1996 of §750,000.
INSTRUCTIONS: Compute EPS for the company for 1996.

2. On Januafy 19, 1995 the records of the Stewart Company revealed the following information:

Inventory, July 1, 1994 §51,600 Freight-in s$3,000
Purchases, July 1, 1994-January 20, 1995 368,000 Sales returns 8,600
Sales, July 1, 1994-January 20, 1995 583,000 Purchases returns 11,200
Purchases discounts taken 5,800

A fire destroyed the entire inventory on January 20, 1995 except for purchases in transit,
FOB shipping point, of $2,000 and goods having a selling price of $4,700 that were
salvaged goods had an estimated salvage value of $2,900. The average gross profit on

net sales in previous periods had been 40%.

INSTRUCTIONS: Compute the cost of the inventory lost in the fire. (7%)
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3. on January 1, 1996, Qualls Company purchased 20% of Green Company's outstanding common
stock for $1,000,000 when the underlying book value of the company was §4,570,0Q0.
40% of the excess is attributable to assets with a remaining life of eight years, and
the remainder to unrecorded goodwill to be amortized over 20 years. Creen Company
reported net income of $280,000 in 1996 and declared dividends of $0.90 per share on
all 200,000 outstanding shares. (Qualls accounts for its Investment in Green by the
equity method.

INSTRUCTIONS :
Prepare Qualls's journal entries, relative to the Creen investment, that are required
after January 1, 1996. (7%)
4. The following is accounting information taken from the Verna Company's records for 1995:
1) Decrease in accounts payable, $4,600 2) Loss on sale of land, $1,900
3) increase in inventory, $7,800 4) increase in income taxes payable, $2,700
5) Net income, $64,400 6) patent amortization expense, $1,600
7} Extraordinary loss (net) from flood, 8) Extraordinary gain (net) from debt
86,200 retirement, $3,700
9) Decrease in deferred taxes payable,$2,500 10) Depreciation expense, $10,000
11) Amortization of discount on bonds 12) Amortization of discount -on investment
payable, $1,300 in bonds, $1,500
13) payment of cash dividends, $24,000 14) Depletion expense, $5,C00
15) Decrease in salaries payable, $1,400 16) Decrease in accounts receivable, $3,500
17) Gain on sale of equipment, $6,100 18) Proceeds from issuance of stock, $57,000
INSTRUCTIONS :
Prepare the net cash flow from operating activities section of the 1995 statement
of cash flows for the Verna Company. (8%)

5. The Bailand Company purchased a building for $110,000 that had an estimated residual
value of $10,000 and an estimated service life of 10 years. The building was purchased
4 years ago, and straight-line depreciation has been used. At the beginning of the
fifth year (before depreciation is recorded for the year), the following independent
situations occur:
(1) The company changes to the sum-of-the-years'-digits method.
(2) It is estimated that the asset has 8 years' life remaining (for a total of 12 years).
(3) It is discovered that the estimated residual value has been ignored in the

computation of the depreciation.

INSTRUCTIONS :
For each of the independent situations, prepare all the journal entries relating
to the building for the fifth year. Ignore income taxes. (9%)

6. The 1994 income statement of Burke Corporation has just been tentatively completed.
It reflects pretax income for 1994 of $85,000. The accounts have not been closed for
the year ended December 31, 1994. A review of the company's files and records revealed
the following errors that have not been corrected:

a. Patent amortization of $3,000 per year was not recorded in 1993 and 1994.

b. The 1992 ending inventory was overstated by $4,000.

¢c. Machinery acquired on January 1, 1990, at a cost of $26,000 1s being depreciated
by the straight-line method over 10 years. The good-fairth estimate of its
residual value of $6,000 has not been included in the computation of depreciation
expense.

d. Accrued wages of $1,500 at December 31, 1993, were not recognized.

A $1,000 cash shortage during 1994 was debited to retained earnings.

f. Ordinary repairs on the machinery in (c) above of $7,000, incurred during January
1994, vere debited to the machinery account.

g. During 1994, treasury stock that cost $8,000 was sold for $11,000. The difference
was credited to extraordinary gain. The company uses the cost method to account
for treasury stock.

INSTRUCTIONS :

(1) Give the correcting entry, if needed, for each of the above errors., Ignore
income tax considerations.
(2) Compute the correct pretax income amount for 1994 (14%)
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